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Metsr | el CEn 2,000 52 109.0 62.9 109.4 28.544 3.309 69,677 2.4 5.5 2.1 5.053 0.093 2.0
Meter | M A 2,000 58 113.2 79.9 112.8 28.218 3.706 72,161 3.0 6.2 2.2 10.375 0.125 37.3
M2 | Eped AbA 800 52 104.7 39.6 97.4 22.001 2.869 54,419 1.3 5.0 1.5 6.679 0.152 2.2
Mot | Haed et 500 5g 95.9 50.7 98.5 20.325 2.955 44,419 1.3 5.1 1.5 5.463 0.082 2.1

Metsr | EHped HH 500 52 99.8 62.9 103.4 23.745 3.091 39,065 1.3 5.7 1.5 5.309 0.113 1.2
Mg | dsd o™ 120 58 120.5 113.8 125.0 22.155 4.686 44,000 3.6 7.3 41 10.703 0.553 33.8
e8| &pd QA 80 58 109.4 36.0 105.0 22.680 3.662 38,500 3.1 5.6 3.6 12.332 0.804 27.5
Mot | Haed eI 80 5g 117.6 37.0 102.0 23.145 2.858 40,500 3.7 5.5 3.4 11.531 0.621 23.5
Metsr | EHped FESH 70 52 113.6 18.4 94.4 32.658 3.146 36,800 3.9 6.4 3.8 12.234 0.686 24.6
MetEr | Haed pagely 70 5g 106.5 49.9 102.0 19.688 3.432 44,750 3.6 7.6 3.1 9.018 1.396 25.0
Mg | dsd FE 70 58 103.6 20.9 115.0 20.085 5.433 37,750 4.0 5.1 2.8 10.439 1.040 24.0
M2 | Eped S 60 58 110.0 45.0 110.0 27.803 6.092 35,250 4.3 7.3 3.3 11.073 1.288 25.8
Mg | dsd = 57 58 115.9 31.2 104.8 20.634 3.394 36,000 3.8 5.7 3.5 9.076 0.957 27.2
HMEt2z | Zed oreF 50 58 95.3 44.7 115.0 19.005 2.909 54,000 3.2 6.5 3.7 8.756 0.956 35.0
Mg | dsd =M 40 58 125.1 55.8 108.0 35.130 6.114 42,000 3.9 10.7 4.9 11.784 1.134 26.0
Mg | dsd =4 40 58 114.6 122.0 116.0 6.660 5.400 43,000 2.7 5.5 4.4 2.412 1.270 34.0
Ml | XM Yy 40 52l 132.6 32.1 112.0 20.220 6.210 39,000 2.9 8.3 2.8 3.948 0.992 22.0
M2 | Eped pSES| 38 5g 86.8 46.1 128.0 30.630 4.764 39,000 2.2 2.9 4.7 4.824 0.755 25.0
Meter | M ks 35 58 123.6 48.3 104.0 28.320 5.334 34,000 4.2 10.2 4.0 9.636 0.899 24.0
Heler | Mad elp= 35 58 139.2 44.3 80.0 5.910 4.692 39,000 2.4 8.8 2.1 2.388 1.352 22.0
Mg | dsd 5 At 25 58 106.8 39.7 60.0 28.170 7.458 34,000 3.2 10.2 3.9 10.278 1.223 23.0
Metsr | o et 60 53 - - - - - - - - - - - -

Metsr | o os 48 53 - - - - - - - - - - - -

Metsr | o g 45 53 - - - - - - - - - - - -

MElEE | Yo A= 34 53 - - - - - - - - - - - -




